IDM355 inclass quiz      August 31, 2020

Fill in the blanks and email the results to me before the end of class.

       Enter your name here __________________
Problem 1    If a random sample of 20 servings of ready-to-eat cereal has a mean sodium content of 244 milligrams and a standard deviation of 24.5 milligrams, does this data suggest that the average sodium content is greater than 220 milligrams?  Assume the distribution of sodium contents to be normal.

Factor Level(s) (What are the groups or categories?)

Cereal (single factor)
Response: (What is being measured?)     _______________________
Hypotheses:

H0:
( = 220
H1:
(  __________________
Test of mu = 220 vs > 220
 N     Mean     StDev     SE Mean   95% Lower Bound     

T      P

20     244.000  24.500    5.478     234.527  


      4.38  0.000

Decision:     _________________H0

Conclusion:
 With a p-value = ____________, the data suggest that the ___________________ is 
________________________ 220 milligrams.
Problem2    A random sample of 9 servings of Crowger Corn Flakes has a mean sodium content of 243.89 milligrams and a standard deviation of 2.47 milligrams, A random sample of 9 servings of Publicks Corn Flakes has a mean sodium content of 247.11 milligrams and a standard deviation of 5.35 milligrams.  Does this data suggest that two brands differ in terms of average sodium content? Assume the distribution of sodium contents to be normal.

Factor Level(s) (What are the groups or categories?)

________________________________________________
Response: (What is being measured?) 

 _________________________________________________-
Hypotheses:


H0:
( Crowger = ( Publicks 
H1:
( Crowger ≠ ( Publicks 
Two-Sample T-Test and CI: CFlakes, PFlakes 

Two-sample T for CFlakes vs PFlakes

         N    Mean   StDev   SE Mean

CFlakes  9  243.89   2.47      0.82

PFlakes  9  247.11   5.35      1.8

Difference = mu (CFlakes) - mu (PFlakes)

Estimate for difference:  -3.22222

95% CI for difference:  (-7.54537, 1.10092)

T-Test of difference = 0 (vs not =): T-Value = -1.64  P-Value = 0.129  DF = 11

Decision: 
____________________ H0

Conclusion:
 
With a p-value of  ________        

the data suggest that there ________  statistically significant difference 
in the mean 
______________________________         

of the two  brands of   
________________________________
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